o

LERBELRE™—1E8 "Programming in Cis fun!”

2INBE afl b, WEHEW a. bAFISE,

f1l:

FRSW /I,
LETIAN
2 -8
b

-6 10 (f13 6 , £79 10)

3N L SCE x , TEFRMEHEFAIR(RE 1 /e, HU:

LZTUAN

17



4

4.1

AMANERERE f, (TEFEENAYERRRE c(RE 2 /M), c = 5/9(f-32).

RS ZEA
LETIAN

17.2 (REERE)

4

-8.22

SHIN 2 PEEN timel fl time2 , FRKEFRIH ARIEFNZNARE , ITEFHEIHIRIE

HY18],

BXAYRIESEERZ 0000 2l 2359 , AEEEEBH AR AT RIARERIER.

RS ZEA



LZTUAN

712 1411(H&RSEE 7:12 , EiARERE 14:11) &l

The train journey time is 6 hrs 59 mins.

6.5 1 NS , BHEINE RS, HiARFZESE—M LRI 9 , RiakR

LL10 BUR |, {E/ ERFET |, &ERE 1 Al 3 (M EREEFEmR |, 55 2 (A

B AN ENEEFERR , BRIIEERFE. HIFRSAEinEA

LZTUAN

1257

4

The encrypted number is 4601(E—_tAY24=00 9 BRLA 10 BXRfg | 15 0146,
IR

[215%l 4601)

TN AERNFH , BEENANEFR. f.



LZTUAN

4

S8IIN—INFENEFNSG , WREMT 60, il "Fail” , /N , & “Pass” .

f1l:

LETUAN

60

4

Pass

LETUAN

59



4

Fail

VNN EE , BHETHNRIME, HIEESRRRE

LZTUAN

126190

b

minis 1 (12 6190 FR/IMEE 1)

L08R T A EERNFRI , AERHEEILRIGS,

MAN=FHI=5 a, b, ¢ , WREEHIR— 1= , BHER area flEK

perimeter({REE 2 /&), BN , HitH “These sides do not correspond to a valid

triangle” .

E— 1=/, FEREZHATSE=E. =APHNERTREAL



area*area = s(s-a)(s-b)(s-c)

Hrh:s = (a+b+c)/2

RS ZEA
LETIAN

553

e

area=7/.15; perimeter=13.00

LZTUAN

141

4

These sides do not correspond to a valid triangle

11ANER X, X KTF 0, y=1xFF 0, y=0,801 , y=-1, &gk y.



RS ZEA

LZTUAN

4

1 (x=2B7y=1)

LZTUAN

4

-1 (x=-8BJ y=-1)

LZTUAN

4



0 (x=0 f7 y=0)

12 fem iR YA H BRI, AERHEEITRIGTS.

IAN—THRTRIBF salary , BB AR ARTSHT tax(PREE 2 A2/\85).

tax = rate * (salary-850)

24 salary <= 850 f , rate = 0.0; 24 850 < salary <= 1350 B7 , rate = 0.05;

24 1350 < salary <= 2850 i, rate = 0.1;

=4 2850 < salary <= 5850 B¢, rate = 0.15; =& 5850 > salary BY , rate = 0.2; fl:
HRERNZ1REE

LZTUAN

1010.87

4

tax=8.04

LZTUAN



32098.76

4

tax=6249.75

LZTUAN

3800

b

tax=0.00

LZTUAN

4010

4

tax=474.00

LETUAN



2850

4

tax=200.00

13.LATF 4 MukRrEMZHIZE 3.00 7v/2F , 2.50 7o/22F , 4.10 jo/22F , 10.20

/

N

[1] apples

[2] pears

[3] oranges

[4] grapes

BMNKRINRS | BZZKRAVRIN (R 2 f/NED). RMAARERRIRS | &

179 0.00, FIIRSRR NS BN

3 (oranges B4R S) it



4.10

LABAN—DFFT , MReEEXREFE , dENANEFENReE/NEF

, BHEENANKESFEEEN |, RE,

RS HZEE BA

b

LZTUAN



PLEAB AR SRR TS, AW RSB —FEHNE.
B RREAER4A, BiH: https://d. book118. com/39622524301

2010110


https://d.book118.com/396225243012010110
https://d.book118.com/396225243012010110

